APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager;	ANDY ZWIEG	Page 1 of 6								
Project: HILLCRE	ST DRIVE, STANDISH COURT, AND ALD	N DRIVE ASSESSMENT DISTRICT - 2021								
Contract Number:	8561	Payment Number: 4								
DO NOT WRITE	IN THIS BOX - TO BE COMPLETE	D BY CITY ENGINEERING PERSONNEL ONLY								
TOTAL FROM PAGE:	6	1,093,595.01								
LESS RETAINAGE:		43,844.91								
SUBTOTAL:		1,049,750.10								
LESS PREVIOUS PA	YMENTS:	793,766.33								
CURRENT PAYMENT	DUE:	255,983.77								
Dy this and that and that CONTRA INSPECTOR'S CERTION The under the second that the second tha	S&L UNDERGROUND, INC. FICATE FOR PAYMENT: ersigned Inspector certifies that to the be oplication for payment has been completed the contractor is entitled to payment for the contractor of th	9/10/202/ DATE/								
NOTE: SIGNED P	PAYMENT REQUEST SHALL BE SUBMITTE	D TO THE ENGINEER/INSPECTOR.								

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

STREET ACCOUNT: 12195-402-170

STREET (STORM) ACCOUNT: 12195-402-174

STORM ACCOUNT: 12195-84-174 **SANITARY ACCOUNT: 12195-83-173** WATER ACCOUNT: 12195-86-179

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND, INC.

HILLCREST DRIVE, STANDISH COURT, AND ALDEN DRIVE ASSESSMENT DISTRICT - 2021

CONTRACT NO. 8561

	ACT NO. 8561 NT NO. 4					I	I		I		*****		I
.,		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT: 12195-402-170												
10701	TRAFFIC CONTROL	0.35	LUMP SUM	\$4,800.00	\$1,680.00		0.00	\$0.00	0.35	\$1,680.00	0.35	\$1,680.00	100.00%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	14.00	DAYS	\$75.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10801	ROOT CUTTING - CURB & GUTTER	60.00	L.F.	\$19.60	\$1,176.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10912	MOBILIZATION	0.35	LUMP SUM	\$48,000.00	\$16,800.00		0.00	\$0.00	0.35	\$16,800.00	0.35	\$16,800.00	100.00%
20101	EXCAVATION CUT	3,800.00	C.Y.	\$17.80	\$67,640.00		1,000.00	\$17,800.00	0.00	\$0.00	1,000.00	\$17,800.00	26.32%
20130	UNDERDRAIN	320.00	L.F.	\$13.90	\$4,448.00		200.00	\$2,780.00	0.00	\$0.00	200.00	\$2,780.00	62.50%
20140	GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN)	2,500.00	S.Y.	\$2.50	\$6,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20219	BREAKER RUN	1,800.00	TON	\$12.80	\$23,040.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20221	TOPSOIL	6,000.00	S.Y.	\$8.20	\$49,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20303	SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH	450.00	L.F.	\$1.50	\$675.00		200.00	\$300.00	0.00	\$0.00	200.00	\$300.00	44.44%
20322	REMOVE CONCRETE CURB & GUTTER	725.00	L.F.	\$2.90	\$2,102.50		200.00	\$580.00	50.00	\$145.00	250.00	\$725.00	34.48%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	4,450.00	S.F.	\$2.40	\$10,680.00		300.00	\$720.00	200.00	\$480.00	500.00	\$1,200.00	11.24%
20401	CLEARING	16.00	I.D.	\$39.00	\$624.00		10.00	\$390.00	0.00	\$0.00	10.00	\$390.00	62.50%
20406	GRUBBING	16.00	I.D.	\$39.00	\$624.00		10.00	\$390.00	0.00	\$0.00	10.00	\$390.00	62.50%
20701	TERRACE SEEDING	6,000.00	S.Y.	\$1.40	\$8,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21063	EROSION MATTING, CLASS I, TYPE A - ORGANIC	6,000.00	S.Y.	\$1.80	\$10,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30201	TYPE 'A' CONCRETE CURB & GUTTER	3,900.00	L.F.	\$17.68	\$68,952.00		1,500.00	\$26,520.00	0.00	\$0.00	1,500.00	\$26,520.00	38.46%
30203	TYPE 'X' CONCRETE CURB & GUTTER	200.00	L.F.	\$22.73	\$4,546.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30208	HAND FORMED CONCRETE CURB & GUTTER	60.00	L.F.	\$40.40	\$2,424.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30301	5" CONCRETE SIDEWALK	750.00	S.F.	\$5.90	\$4,425.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND, INC.
HILLCREST DRIVE, STANDISH COURT, AND ALDEN DRIVE ASSESSMENT DISTRICT - 2021
CONTRACT NO. 8561
PAYMENT NO. 4

I A I III L	N1 NO. 4	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30302	7" CONCRETE SIDEWALK AND DRIVE	3,700.00	S.F.	\$6.00	\$22,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30340	CURB RAMP DETECTABLE WARNING FIELD	40.00	S.F.	\$30.30	\$1,212.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40101	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 1	3,000.00	TON	\$15.50	\$46,500.00		500.00	\$7,750.00	0.00	\$0.00	500.00	\$7,750.00	16.67%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	3,900.00	TON	\$15.50	\$60,450.00		600.00	\$9,300.00	0.00	\$0.00	600.00	\$9,300.00	15.38%
40202	HMA PAVEMENT 4 LT 58-28 S	1,200.00	TON	\$65.25	\$78,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	400.00	GAL	\$2.78	\$1,112.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	300.00	S.Y.	\$35.05	\$10,515.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40301	FULL WIDTH GRINDING	2,000.00	S.Y.	\$4.30	\$8,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	MAINTAIN DRIVEWAY ACCESS	5.00	EACH	\$379.00	\$1,895.00		0.50	\$189.50	0.00	\$0.00	0.50	\$189.50	10.00%
90002	REMOVE AND SALVAGE BRICK PAVERS	200.00	S.F.	\$5.70	\$1,140.00		40.00	\$228.00	0.00	\$0.00	40.00	\$228.00	20.00%
	SUBTOTALS				\$517,460.50			\$66,947.50		\$19,105.00		\$86,052.50	16.63%
STREET	Γ (STORM) ACCOUNT: 12195-402-174												
20217	CLEAR STONE	800.00	TON	\$16.80	\$13,440.00		0.00	\$0.00	200.00	\$3,360.00	200.00	\$3,360.00	25.00%
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$500.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21011	CONSTRUCTION ENTRANCE	3.00	EACH	\$673.00	\$2,019.00		0.00	\$0.00	2.00	\$1,346.00	2.00	\$1,346.00	66.67%
21012	STREET CONSTRUCTION ENTRANCE BERM	2.00	EACH	\$252.00	\$504.00		2.00	\$504.00	0.00	\$0.00	2.00	\$504.00	100.00%
21013	STREET SWEEPING	1.00	LUMP SUM	\$1,400.00	\$1,400.00		0.25	\$350.00	0.75	\$1,050.00	1.00	\$1,400.00	100.00%
21015	STREET CONSTRUCTION STONE BERM	15.00	EACH	\$252.00	\$3,780.00		2.00	\$504.00	10.00	\$2,520.00	12.00	\$3,024.00	80.00%
21046	INLET PROTECTION, TYPE A - PROVIDE & INSTALL	6.00	EACH	\$150.00	\$900.00		0.00	\$0.00	5.00	\$750.00	5.00	\$750.00	83.33%
21047	INLET PROTECTION, TYPE A - MAINTAIN	9.00	EACH	\$100.00	\$900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21048	INLET PROTECTION, TYPE A - REMOVE	6.00	EACH	\$50.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21049	INLET PROTECTION, RIGID FRAME - PROVIDE & INSTALL	28.00	EACH	\$300.00	\$8,400.00		0.00	\$0.00	1.00	\$300.00	1.00	\$300.00	3.57%
21050	INLET PROTECTION, RIGID FRAME - MAINTAIN	42.00	EACH	\$65.00	\$2,730.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND, INC. HILLCREST DRIVE, STANDISH COURT, AND ALDEN DRIVE ASSESSMENT DISTRICT - 2021 CONTRACT NO. 8561

n 4	VE	ıŦ	N1/	ገ 4

	ACT NO. 8561 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21051	INLET PROTECTION, RIGID FRAME - REMOVE	28.00	EACH	\$25.00	\$700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	211.00	L.F.	\$66.00	\$13,926.00		100.00	\$6,600.00	75.00	\$4,950.00	175.00	\$11,550.00	82.94%
50432	12 INCH TYPE II PAVEMENT STORM SEWER PIPE	135.00	L.F.	\$66.00	\$8,910.00		100.00	\$6,600.00	0.00	\$0.00	100.00	\$6,600.00	74.07%
50741	TYPE H INLET	20.00	EACH	\$2,106.00	\$42,120.00		12.00	\$25,272.00	4.00	\$8,424.00	16.00	\$33,696.00	80.00%
	SUBTOTALS				\$102,529.00			\$39,830.00		\$22,700.00		\$62,530.00	60.99%
STORM	ACCOUNT: 12195-84-174	_											
10701	TRAFFIC CONTROL	0.10	LUMP SUM	\$4,800.00	\$480.00		0.00	\$0.00	0.10	\$480.00	0.10	\$480.00	100.00%
10912	MOBILIZATION	0.10	LUMP SUM	\$48,000.00	\$4,800.00		0.00	\$0.00	0.10	\$4,800.00	0.10	\$4,800.00	100.00%
20501	ADJUST SEWER ACCESS STRUCTURE	1.00	EACH	\$350.00	\$350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50211	SELECT BACKFILL FOR STORM SEWER	1,822.00	T.F.	\$0.01	\$18.22		0.00	\$0.00	200.00	\$2.00	200.00	\$2.00	10.98%
50402	15 INCH TYPE I RCP STORM SEWER PIPE	300.00	L.F.	\$67.00	\$20,100.00		250.00	\$16,750.00	0.00	\$0.00	250.00	\$16,750.00	83.33%
50403	18 INCH TYPE I RCP STORM SEWER PIPE	430.50	L.F.	\$80.00	\$34,440.00		400.00	\$32,000.00	0.00	\$0.00	400.00	\$32,000.00	92.92%
50405	24 INCH TYPE I RCP STORM SEWER PIPE	276.50	L.F.	\$93.00	\$25,714.50		225.00	\$20,925.00	0.00	\$0.00	225.00	\$20,925.00	81.37%
50433	15 INCH TYPE II PAVEMENT STORM SEWER PIPE	228.00	L.F.	\$67.00	\$15,276.00		190.00	\$12,730.00	0.00	\$0.00	190.00	\$12,730.00	83.33%
50434	18 INCH TYPE II PAVEMENT STORM SEWER PIPE	95.00	L.F.	\$80.00	\$7,600.00		80.00	\$6,400.00	0.00	\$0.00	80.00	\$6,400.00	84.21%
50435	24 INCH TYPE II PAVEMENT STORM SEWER PIPE	146.00	L.F.	\$93.00	\$13,578.00		20.00	\$1,860.00	100.00	\$9,300.00	120.00	\$11,160.00	82.19%
50499	CONCRETE COLLAR	1.00	EACH	\$560.00	\$560.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50723	3'X3' STORM SAS	16.00	EACH	\$2,730.00	\$43,680.00		11.00	\$30,030.00	3.00	\$8,190.00	14.00	\$38,220.00	87.50%
50792	STORM SEWER TAP	1.00	EACH	\$830.00	\$830.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50801	UTILITY LINE OPENING (ULO)	12.00	EACH	\$678.00	\$8,136.00		0.00	\$0.00	1.00	\$678.00	1.00	\$678.00	8.33%
	SUBTOTALS				\$175,562.72			\$120,695.00	•	\$23,450.00		\$144,145.00	82.10%
SANITA	RY ACCOUNT: 12195-83-173												
10701	TRAFFIC CONTROL	0.33	LUMP SUM	\$4,800.00	\$1,584.00		0.00	\$0.00	0.33	\$1,584.00	0.33	\$1,584.00	100.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND, INC. HILLCREST DRIVE, STANDISH COURT, AND ALDEN DRIVE ASSESSMENT DISTRICT - 2021 CONTRACT NO. 8561

P	Δ	Υ	м	F	N	т	N	റ	. 4	

	ACT NO. 8561 NT NO. 4								I	1	*****		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
10912	MOBILIZATION	0.33	LUMP SUM	\$48,000.00	\$15,840.00		0.00	\$0.00	0.33	\$15,840.00	0.33	\$15,840.00	100.00%
20102	ROCK EXCAVATION (UNDISTRIBUTED)	50.00	C.Y.	\$0.01	\$0.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20311	REMOVE SEWER ACCESS STRUCTURE (SANITARY)	5.00	EACH	\$666.00	\$3,330.00		1.00	\$666.00	3.00	\$1,998.00	4.00	\$2,664.00	80.00%
20314	REMOVE PIPE (SANITARY)	364.00	L.F.	\$25.00	\$9,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20331	ABANDON SEWER ACCESS STRUCTURE (SANITARY)	2.00	EACH	\$540.00	\$1,080.00		2.00	\$1,080.00	0.00	\$0.00	2.00	\$1,080.00	100.00%
20335	ABANDON SEWER WITH SLURRY	3.90	C.Y.	\$610.00	\$2,379.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20501	ADJUST SEWER ACCESS STRUCTURE	2.00	EACH	\$350.00	\$700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50103	RECONSTRUCT BENCH AND FLOWLINE(S)	3.00	EACH	\$740.00	\$2,220.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50212	SELECT BACKFILL SANITARY SEWER	3,229.00	T.F.	\$0.01	\$32.29		0.00	\$0.00	2,500.00	\$25.00	2,500.00	\$25.00	77.42%
50225	UTILITY TRENCH PATCH TYPE III	632.00	T.F.	\$55.40	\$35,012.80		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50301	8" PVC SEWER PIPE (SDR 35, SDR 26)	2,119.00	L.F.	\$113.60	\$240,718.40		0.00	\$0.00	2,000.00	\$227,200.00	2,000.00	\$227,200.00	94.38%
50353	SANITARY SEWER LATERAL (SDR 35, SDR 26)	1,110.00	L.F.	\$76.60	\$85,026.00		0.00	\$0.00	800.00	\$61,280.00	800.00	\$61,280.00	72.07%
50356	RECONNECT SANITARY SEWER LATERAL	42.00	EACH	\$2,524.00	\$106,008.00		8.00	\$20,192.00	30.00	\$75,720.00	38.00	\$95,912.00	90.48%
50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$0.01	\$0.01		0.00	\$0.00	1.00	\$0.01	1.00	\$0.01	100.00%
50701	4' DIA SAS	18.00	EACH	\$3,423.00	\$61,614.00		2.00	\$6,846.00	15.00	\$51,345.00	17.00	\$58,191.00	94.44%
50390	SEWER ELECTRONIC MARKERS	86.00	EACH	\$79.00	\$6,794.00		5.00	\$395.00	40.00	\$3,160.00	45.00	\$3,555.00	52.33%
50791	SANITARY SEWER TAP	5.00	EACH	\$1,400.00	\$7,000.00		1.00	\$1,400.00	3.00	\$4,200.00	4.00	\$5,600.00	80.00%
	SUBTOTALS				\$578,439.00			\$30,579.00		\$442,352.01	•	\$472,931.01	81.76%
WATER	ACCOUNT: 12195-86-179												
10701	TRAFFIC CONTROL	0.22	LUMP SUM	\$4,800.00	\$1,056.00		0.00	\$0.00	0.22	\$1,056.00	0.22	\$1,056.00	100.00%
10912	MOBILIZATION	0.22	LUMP SUM	\$48,000.00	\$10,560.00		0.00	\$0.00	0.22	\$10,560.00	0.22	\$10,560.00	100.00%
50225	UTILITY TRENCH PATCH TYPE III	20.00	T.F.	\$55.40	\$1,108.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
50801	UTILITY LINE OPENING (ULO)	3.00	EACH	\$678.00	\$2,034.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND, INC. HILLCREST DRIVE, STANDISH COURT, AND ALDEN DRIVE ASSESSMENT DISTRICT - 2021 **CONTRACT NO. 8561**

PAYMENT NO) . 4
------------	--------------

	NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70002	FURNISH AND INSTALL 4 INCH AND 6 INCH PIPE & FITTINGS	140.00	L.F.	\$115.00	\$16,100.00		0.00	\$0.00	115.50	\$13,282.50	115.50	\$13,282.50	82.50%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	1,080.00	L.F.	\$101.00	\$109,080.00		0.00	\$0.00	1,002.00	\$101,202.00	1,002.00	\$101,202.00	92.78%
70005	FURNISH AND INSTALL 12 INCH PIPE & FITTINGS	880.00	L.F.	\$118.00	\$103,840.00		0.00	\$0.00	828.00	\$97,704.00	828.00	\$97,704.00	94.09%
70030	FURNISH AND INSTALL 4-INCH WATER VALVE	2.00	EACH	\$1,555.00	\$3,110.00		0.00	\$0.00	2.00	\$3,110.00	2.00	\$3,110.00	100.00%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	3.00	EACH	\$1,966.00	\$5,898.00		0.00	\$0.00	4.00	\$7,864.00	4.00	\$7,864.00	133.33%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	5.00	EACH	\$2,382.00	\$11,910.00		0.00	\$0.00	5.00	\$11,910.00	5.00	\$11,910.00	100.00%
70034	FURNISH AND INSTALL 12-INCH WATER VALVE	2.00	EACH	\$4,077.00	\$8,154.00		0.00	\$0.00	2.00	\$8,154.00	2.00	\$8,154.00	100.00%
70040	SALVAGE HYDRANT	2.00	EACH	\$1,082.00	\$2,164.00		0.00	\$0.00	2.00	\$2,164.00	2.00	\$2,164.00	100.00%
70041	RELOCATE HYDRANT	2.00	EACH	\$1,135.00	\$2,270.00		0.00	\$0.00	2.00	\$2,270.00	2.00	\$2,270.00	100.00%
70050	FURNISH AND INSTALL 1 INCH SERVICE LATERALS	24.00	EACH	\$2,520.00	\$60,480.00		0.00	\$0.00	12.00	\$30,240.00	12.00	\$30,240.00	50.00%
70056	RECONNECT 1-INCH SERVICE LATERAL	7.00	EACH	\$1,557.00	\$10,899.00		0.00	\$0.00	7.00	\$10,899.00	7.00	\$10,899.00	100.00%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	9.00	EACH	\$2,319.00	\$20,871.00		0.00	\$0.00	10.00	\$23,190.00	10.00	\$23,190.00	111.11%
70082	CUT OFF EXISTING WATER MAIN	2.00	EACH	\$1,510.00	\$3,020.00		0.00	\$0.00	2.00	\$3,020.00	2.00	\$3,020.00	100.00%
70090	ABANDON WATER VALVE BOX	7.00	EACH	\$133.00	\$931.00		0.00	\$0.00	7.00	\$931.00	7.00	\$931.00	100.00%
70101	FURNISH AND INSTALL STYROFOAM	30.00	EACH	\$116.00	\$3,480.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70104	ADJUST WATER VALVE BOX SECTIONS	6.00	EACH	\$410.00	\$2,460.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
70111	FURNISH & INSTALL ANODE	2.00	EACH	\$190.00	\$380.00		0.00	\$0.00	2.00	\$380.00	2.00	\$380.00	100.00%
	SUBTOTALS			•	\$379,805.00		·	\$0.00		\$327,936.50	-	\$327,936.50	86.34%
CONTRA	ACT TOTALS			=	\$1,753,796.22		:	\$258,051.50	:	\$835,543.51	= :	\$1,093,595.01	62.36%